SECOND YEAR HIGHER SECONDARY
FIRST TERMINAL EXAMINATION-2024

Part-11 Time: 2 Y/, Hrs
ARABIC Cool-off time:15 Minutes
Maximum: 80 Scores

Answer any 10 questions from 1 to 12, Each carries 1 score (10 x 1=10)
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Answer any 6 questions from 13 to 19, Each carries 3 scores (6x 3=18)
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Answer any 4 questions from 20 to 24, Each carries 5 scores. (4 x 5 = 20)
vl 35 pe hiadl e b GLE WS da b (25386 560 20



Jledl (9 a8 azs3l Juasd) il G851 et @21
dela il o w388, Le (
JEENNER R

gl L8 5 b1 3B Hlic d55 (2

g.-’|‘.'. ﬁll

I - .
|

I'.'. .9”

oiadl £, 3 8304 5> a5 LA AN d 1ol Lass S (22

el )l 4255 23

This is Salim, He is my friend, Salim has two sisters, His father is a doctor and his mother is a
teacher, He loves his family.
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Answer any 4 questions from 25 to 29, Each carries 6 scores. (4 x 6 = 24)
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Answer One question from 30 to 31, carries 8 score. (1 x 8 = 8)
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